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Chapter 8 HEBERMT 821
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Consider the Bode magmtude plot of a plant G(s) shown in Figure 1, where

no poles or zeros are located in the RHP. Please determine the transfer function
G(s) if [G(j0.01)|=50000 , {G(j1)|=0.1040 , |G{(/5)|=45.1160 ,
1G(j20) |=0.0140, and | G(/100)|=15.0360.
10° T At i ¥
104 L
103 I
107}
10k
10°
s 107
107
107°F
107
1075 sl Ll N
102 10! 10 10! 107 {0 104
Frequency (rad/sec)

agnitude

(RAEM) |

[ ER4f ]

(DS JEATE L 4} 8 5—40dB/dec= s HR -
(2)78 S8 85 1 4 4 & A—-40dB/dec = - F B2K -
(R =1 B4 R 3 md0dB/dec HL 8 379 4

24;
:af;a;[1+ 2t *;J

HMEEEw=5 ﬁ?ﬁi'ﬂ@()dB/decE_Hﬂiﬁ)ﬁm%

24, -

B IR # 0 =20 B4 & 1 pa0dB/dec L H 33 4

2§z25 2
ﬁﬁ;ﬁr‘[” 20 202]



8-22 A itk AL hAan
WA @ =100 4L 8. 40dB/dec HL 4 3 14
24},25 5 ; ‘
iﬁ;ﬁ:‘(” 100 +1002)
@H LB R R E R R BB G(s) TR LU T AR

K[i"@* Zé;zls +i]( 24225 S2 J

12
G(s) = 5
2 2
32(1+———~2§;"S +§—}(1+ é’pgs T J

52 100 1007

5)E 4 = 0.01rad/sec B IF B AS50000 8 3 B E M5 K

G(jw) =

K
(o)
=[G(j0.0D)| =

- = 50000

= K=35
GV EEW T o =1rad/sec Bz A4FF 4 A32dBAGT H £

20l0g2¢, =32 = ¢, =0.012
BAEH 0 0 = S radfsec L2 W B0 B10BAH IS,

20log2¢ ,y =~19=> ¢,y =0.056
AW A E w=20rad/sec)?, LA

20log2¢,, =28 §,, =0.02
HHE B R 0 =100 rad/sec R 2 W4 5 B # #30dBARFTE S,

20l0g2¢ ,p =—30=> §,; = 0.016
B G 8 G(s) A
0.024s 52 0.04s s°
511+ 4 || 1+ o e
I 1 20 20°

G =
(<) 2[ 01125 52]( 0.032s & ]
s T+ I+ +

# A28dBAEHE ¢

..*,,........
5 5% 100 100°



